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The ratio of the ages of a man and his wife is 4 3. After 4 years, this ratio will be 9 : 7. If at the time
of their marriage, the ratio of their ages was 5 : 3, then how many years ago were they married ?

g Wl W3 Ot U @ g T US4 : 3 3 | 4 B EE, frg w3 90 7 32T | A 957 2
fewrg @ Y, B & @ & s 5 : 3.7, 3 RS B st @5t & e Sfernr A 2

a) 8 b) 10 ey 12 d) 15

Due to a reduction 0f6%% in the price of sugar, a man is able to buy 1 kg more for T 120. Find the

original and reduced rate of sugar.

ﬁséa‘b«aﬁeei% & 29t @ 3395, B fevadt 120 R e | B Mz Je wdlez 2 AT 3 | 53 =

WIS W3 werd ardt v € UIT 86 |
a) T7, %850 brE 8, T7.50 ¢) T6,%7.50 d) 26,2650

In a shop. 80% of the articles are sold at a profit of 10% and the remaining at a loss of 40%. What is the

overall profit/loss ?
f= oo 29, 80% THIW & 10% € &9 W3 Tt 40% ? wre g Afonr 7w 3 M FIwe 2

2) 10 % profit (59) b) 10% loss (4e) ¢) 5% loss (W) &y No profit no loss (7 &3 & we)

Two partners invested ¥ 125000 and X 85000 respectively in a business. They distribute 60% of the
profit equally and decide to distribute the remaining 40% as the interest on their capials. If one
partner received T 3000 more than the other, the total profit is :

émtﬁamﬁaw?125000@?85000?1%@36?13*@336‘??60%83@3%3?%
@ﬁw%immﬁﬁﬁt‘?ﬁwnaﬁéﬁerénwaa—eaamaaﬁaﬂréh;sgﬁws?zoooénﬂmé.
FIBFTII:

a) T 42250 b) ¥ 39375 c) 38840 d) 36575

5. What is the difference between the compound interests on ¥ 5000 for 1 year at 4% per annum
compounded yearly and half yearly ?
Z 5000 '3 7B B8 4% yF AEe Hmfas w3 ferrd fimfas fewm Re i Wiz 32
a) T2 b) X3 ¢c) T4 d) IS5
6. 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same work in
& days. In how many days can 2 men and | boy do the work ?
2wt w2 3 BEd 10 fest e e dH a9 FaR g5 AR Y 3 Wt v 2 o Ot a8 few Re aS
AaR 35 | 2 vredt w3 | g fds fest e Gt sy a9 HaEdt
a}lZ% b) 10 ¢) 22% d) 24
7. A man covers a certain distance on a toy train, Had the train moved 4 knvhr faster, it would have
taken 30 minutes less. If it moved 2 kmv/hr slower, it would have taken 20 minutes more. Find the
distance in kilometres.
B et foa fuder 35 dldl '3 e fomfag gt dw awer 3 | Awa Al 4 fnired yEt Wer S
S 27 Wl 4, 3 fem 30 e vl e | A i 2 it et e e deed, 3 R G 20 e
J3 dared) | fadiies ffe gdl 88 |
a) 32 b) 60 c) 68 d) 80
P-1| Set-C Page -9
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A vessel contains a mixture of Grape, Pineapple and Banana juices in the
of grape juice and 2 litres
10 litres less than
the vessel (in litres) ?

Fifteen litres of this mixture is taken out and 8 litres
added to the vessel. If the resultant quantity of grape juice is
of pineapple juice, what was the initial quantity of mixture in

a) 120 b) 150 ¢) 105

fgsafied 6: SE’“@U‘?ﬁB“@G,Wmﬁa@éaﬂeﬁm&élmW
g AreT
quantity) 3 10

3 33 o § dica WE T 9F W3 2 Bieg WeTeTH € IH
H3a (resultant quantity) WETS™H egRd 3t Hr3d'(resultant

respective ratio of 4 6:5

of piné
the result

d) 135 -

3 | Aga Y9

mﬂaséagn@m(ﬁaﬁmaﬁm? g 135
a) 120 b) 13U 9 105 ; imple interest rate of 12 p-¢.p-2: and
9. Vishwas borrowed a total amount of T 30000, parthcéfe::dogfsz years he P 2id in all Z 36480 to settle

remaining on simple interest rate of 10 p.c.p.a. If at t

the loan amount, what was the amount borrowed at 12 p.c.p-a- !
¢) T 17500

Z 12000 16000
Y gg fAr 12 p.c.p-2 El

d) 18000

nu'aﬁfenme'a"? w3 gt 10

ﬁme*ﬂ?sés?sooooe"raw@mg@@ner b e i
pcpa@WWﬁ?ﬁlWZﬂWéWﬁ:‘gﬁ; . feuea

' wdt gt g o ?
SMSOEWW’?DPW.&?W ¢) T 17500 d) T 18000

a) T 12000 b) T 16000
The cost of fencing 2 square field @.
metre wide pavement along the fencing
g ega 939 @ TF warge € 893 @
£33 1ieg 83T geuE @ SO TR eI
a) T37.350 b) T 73,800
Choose the correctly spelt word :
-2y Consciousness b) expectantily o) adventurus
Choose the sentence in which adjectives are correctly used.
) She is better than any other girl that studies in our class.
bJ, She was not punished though she came latter than L.

In the opinion of everyone she is wiser than beautiful.
d) It was bitter cold and we preferred not to go out that night.

Z 20 per metre is
10.

¢) T 77,400

11.

12.

%

S 4

49 Ak -

Z 10,080. How much will it cost to lay a three
inside the field @ Z 50 per sq. metre ?

Z 20 Y3t ¥ired 3 10,080 18932
Ve @ fore o5 a8 wo fels HagE" =T ?

nieg dfgngl T TS
o

d) None of these

d) corraborate

a4

w4

1
W

L5

urzé,z*ﬁf?a

apple juice' is
ant quantity

’ egné?a?rﬂ'

4450

o (?

Select the alternative which best expresses the given sentence in Indirect Speech.
Kiran asked me, “Did you see the cricket match on TV last night ?”

2§ Kiran asked me whether I saw the cricket match on TV the earlier night.

k) Kiran asked me whether I have seen the cricket match on TV the last night.
«g) Kiran asked me whether I had seen the cricket match on TV the earlier night.
d) Kiran asked me whether you saw the cricket match on TV the last night.

Change the VOICE of the given sentence.
He was driving the car so fast that it skidded on the snowy road.
\#’i he car was driven by him so fast that it skidded on the snowy road.

e
'b'aLThc car was being Qriven by him so fast that it skidded on the snowy road.
¢y The car had been driven by him so fast that it skidded on the snowy road.

d§: The car h i i i 5 ° L( / /_?
J: The car has been driven by him so fast that it,skidded on the snowy road. / /
b) talk )y falking

Fill in the blank.
S : L d) talked ‘/ﬂ
entence : [ made the decision to buy onions on my way to the shops.

How dare you
Whlch Qflh iy o
e following statements best expresses the meaning as found in the sentence ?

@_\

=

Cced

toe8

15,

to your teachers like this ?

a) to talk
16,

by Wh?llés;::v;agso%gmg to shops, I decided to buy onions. %a. 89
©) As T was goin g to the shops, I decided to buy onions.

5512

ohal g(%i:lo the shops, I decided to buy onions.
g 1o shops, I decided to buy onions.

K]
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17.

24.

Fill up the blank with suitable preposition.
Nothing can deter him pursuing his aim of life

a) for )_/b)/Tmm c) in. d) of

Choose the correct meaning of the underlined idiom given in the sentence.
The sight of the accident made my flesh creep.

a) worried me b) frightened me ¢) confused me d) drew my at%entlon

Select the most suitable alternative which conveys the exact meaning in accordance with the correct

grammatical rules.

a)_You are not working hard so your success is out of a question.
-5) You are not working hard so your success is out of the question.

¢) You are not working hard so your success is out of question.

QAYOU are not working hard so your success is not out of the question.

Choose the one which can be substituted for the given sentence.
The practise of having many wives.

a) Bigamy b) Calligraphy c) Polygamy d) Polyandry
She been to America, has she? Choose the appropriate verb.
a) hadn’t D) Aasn’t c) haven’t d) has

Select the word which is closest to the opposite in meaning of the underlined word
It is not difficult to take note of his immaculate style of writing.
a) impeccable b) unsullied

c) exquisite d) flawed
Translate the below sentence into Punjabi and choose the correct option
The most useful training of my career was given to me by my boss
AT HA 7 NS FE & He I Quieh findsrd @ faar 3
Y A" &7 G A S & e I Guel fingmrd fier 3
¢) W3 FEMT & 7Y I Quureht et NS 3 B Twrar R I A
\}{ﬂwé‘nﬂ%ﬂéa@weﬁa?@uﬁaﬂﬁwﬂémm
599, TR, 91, ek, g, Aow, do7 Mg AT R U QU TS -
™) 399, FBfat, W, I, 7, Ao, fagmr, dog |
W mmmmﬂgwmmu
) 539, Fofad, vy, Ak, 7, frwar, a0, 099 |

5. HFramHuzer d|

T & W fafer foraft 39

2 v <by e ¢) waerd d) 3
26. eI Hee Y igsa gt |

2) foor | by femrg ¢) WE d) fowr
27, o mee R wdtga faaE 30

a) 9w \b) 4 c) wWr d) gw
28. ‘HeRdr pue fan JF &5 AEfs 3

a) W atE cby 9T THA &t ¢) fods Toa e d) THI TR ST
2. Quswdt faare R Ta few R I

yauTd uas'T d) yiar, fsroeros ugste
s gr feAsd BT
b) enrel c) v d) gnrfamr

Set-C
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31 :
/Haﬁma? c) FaeugE d) fardt S a3

32. e e fedurges HEe 3 : 7
a) 99 b) BgrErd oy W d) wrest
33. %W@WW@WE‘W&Z; -
a) et b) s c) f)/
34, HIGWIHIE, #msﬁméﬁmewﬂﬁ:
a) Tt b) awE c) 37 é) =gt
3. %mmmﬁ*ﬁémﬁwﬁ?ﬁ‘?mﬂa: ) _
a) e, Hrrast, faferd H;af T
s hadiindi ? u"A ‘T Ibar of MS Word
” : . NOT present in Quick ACCESS e ord ?
° \:mll;h Of;:;iouowmg M c) Print Preview d) Prepare
a raw . )
s o e R o} D T aaseg@awﬂﬂgs‘a‘?faﬂﬂa?m’fé?
a) I TS b) E-15 o) fife Jfeg d) fme
7 Which one of the following is NOT an Operating System (0S)?
a) Windows 10 b) Linux ' c) DOS S Excel
@aﬁfﬁ#ﬁwﬁa@u@féarmﬂew(%)mﬂé?
a) fE3710 b) SEGIH c) 3t EMiA. d) WA, WeHS
38. Which of these toolbars allowyou to alter the fonts’ sizes ?
a) Standard M)F::matting ¢) Options d) Design
@aﬁﬁéﬁw;mga@é’e*émémér&mﬁ?é?
a) AC3IF b) eanfdr c) GuEGH d) fswdis
-Powerpoint from the beginning ?

Which is the shortcut key to start a presentation in MS

i, wieg e g, B 3 UASHS BY 996 BY fe ot fagdt 37
a) F5 g ALT+F5 RLAF5 d) SHIFT+FS

Which of the following is NOT a social media platform ?
b) Twitter ¢) Instagram vd)/PayTM

a) Facebook

fogat 2 fygar AR s udceraH &t 9 7

2) 2FA b) efieq ¢) fémeH d) e
4]. The “S” in HTTPS stands for :

a) Selected b) Secure E)/So/ﬁwaf ¢ d) System

HTTPS Rg“S” e wag J :

a) ABFEE b) Ad6T ¢) Aeed d) frmen
42. Which of these keys is not on the number keypad ?

firast féd fadt dt 49 aitfllg 3 5 3 9

a) Ctr]
5 o b) Del \Q/ﬁtcr d) Num lock

| ¢ higher the resolution of a monitor, the -

:))_ larger the pixelg are ' T

) less clear the screen ig ¢) further apart the pixels are
\l)_ctoser together the pixels are

Qat N



44,

45

46.

47.

48.

49.

50.

51

52,

g Wted T InfSEns fiar # Jar .
a) furems 65 & 43 I o) fiars S e 32
b) Fards 6t &t wle Wz 3% 0 fas it 33 959

In MS-Word, you can detect spelling and grammar errors by pressing the key(s) :
Wi, 293 e, 3l ﬁwﬂmﬁmﬁmﬂm@w?wmmm

a) Shift + F7 b) Ctrl + F7 ¢) Alt+ F7 d) F7
Which Sikh Guru and his bani (holy verse) is NOT correctly matched ?

a) Guru Arjun Dev ji — Sukhmani Sahib ¢) Guru Nanak Dev ji — Asa Di Var
b) Guru Amar Das ji — Anand Sahib d) Guru Ram Das ji — Akal Ustit
mm@wwam(mmmwmﬂaﬁw?

2) Tg WG BT 7 - Budl AigH g 578l 2T it - WA AT

By g wHIEH - wie FIE d) JgIHEH At - w8 GAf33

Mardana was the devoted Muslim follower and companion of which Sikh Guru ?

a) Guru Teg Bahadur ji ¢) Guru Arjun Devji
b) Guru Nanak Dev ji d) Guru Gobind Singh ji
mﬁnfﬁuggerm{aﬂmw@ﬁwﬁﬁ ?

2) I 3T H b ggFeaeEd ¢ ggnagese @ d) g e fiiw
How many shalokas of Sheikh Farid have been included in the Adi Granth ?

wife e feg e 2E 2 fols w3 7S T6 7
a) 112 (b118 ¢) 132 d) 122
Who amongst the following was not associated with the Gadar Party 2
a) Tarak Nath Das ¢) Vishnu Ganesh Pingle
b) Mauvi Baraktullah d) Ganesh Srikrishna Khaparde
35 fisd 5 3 9 U 578 HES Bt A 2
a) I THTH qI93%" c) ferg Ao  d) TEH HfqHs WSS
‘Doab’ word has been taken from which language ?
a) Arabic b) Persian ¢) Urdu d) Hindi
e FEe o I 3 fonr famr 3 2
a) wash b) IR PegcH d f&
Sutlej river enters the Shivalik hills at which of the following place in Punjab ?
a) Rupnagar b) Anandpur Sahib ¢) Nangal d) Nurpur Bedi
% Ure 9 35 fiiwt R4 gt &t 3 firerfiser St st R e ger d 2
a) guodId b) wieyd Arfod c) &S &y soua e

Punjab constitutes how much percent area of the total area of India ?

g 9793 € 9% 839¢8 © fde YFm3a 4399 ¢

a)‘ 15 b) 2.5 ¢c) 3.5 d) 2.2
Sirhind canal originates from the river Sutlej at :

a) Rupnagar b) Sirhind «)-Nangal d) Talwara
Fafde afog Aeey efowr 3 i fsasadl 3

a) guedrd b) Fefde ¢) &E d) BT




53. : - .
The Election Commissioner of Punjab is appointed by :

Me Governor

ﬂwaéésaﬁmﬁae?ﬁ;gaiﬁasaa?é?
¢) grcIUSH

b) 1hC Spcakcr c) the President
d) the Chief Minister

a) IAUD p) miad 2% ekt
o How many seats are reserved for women in all Panchayats in Punjab at all levels 7
a) one fourth b) one-third ¢) one half & no rc’cha"
WWWWﬁemwmmewwmm on for women
a) fFaxdEd p) fi= f3TE o) wie d) RT3t w0 39 43
<5 Which of the pairs is WRONG ? '
a) Novelist — Nanak Singh c) Poetess rita Pritam
b) Short Story — Sant Singh Sekhon &y Critic ~ alwant Gargl
Syt S fag= I&3 37
a) FEBAT TS fifu o) eI - wifiz 3
b) Wgaa'ﬂﬂﬁaﬁwﬁﬂ‘ d) W—aagé?mraaﬂ
56. Which of the following rivers is associated with the love-story of Sohni-Mahiwal?
a) Jhelum b) Chenab ¢) Sindh d) Ravi
mﬁ-méwwﬁyﬁa?ﬁﬁﬂWmaﬂaﬂé?
a) HIBH E ! c) fid d I9
57. Which ‘victory-dance’ is recognisable by swaying movements of the head ?
‘r){ankara p) Julli c) Luddi d) Sammi
Wﬁ?—ﬂﬁ?éﬁﬁwaﬂ'ﬁa@é?
a) AT b) T8 ) & d)

ama’ has been written by
b) Prithvi Raj Kapoor

58. ‘Mera Rusi Safarn
d) Bhai Ram Singh

a) Balbir Singh
wmwmwwwa;
J,yéa‘?nm’r d) grgt g

a) gEEa Y p) fiest 97 LI

events in the history of P al order :
(iii) The Ghadar Movement a’s
(iv) Battle of Saraghari

¢) Balraj Sahni

unjab in chronologi¢

59. Arrange the following important

(i) Jallianwala Bagh Incident (&4

(ii) Kamagata Maru Incident +4 L)

mémwwwmm§wmﬁeﬂmﬁ
(i) Wwa’z (iii) grea sfgd
(i) amraTeT Hg Wew (iv) dead
2 (i), (i), (iv) and (i) o) (iv), (ii)) (i) and (i)

by Ai), (ii), () and (iv) M (iii), (i) and (1)

60. s Si i ign of
::;) ‘f;:(r)r:ctub Sikh leader Banda Bahadur was captured and executed during the reign Of the Mughal
*:m':uf::u"b b) Bahadur Shah I dar Shah m Siyar

wirg) Her
" ed g VAT HERd € I
‘ b) Hoed I |

P-1
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§

ol.

62.

63.

65.

67,

0%,

69,

Which of the following is out of the purview of article 21 of the Constitution ?

a) Capital punishment ¢) Sexual Harassment of women at work place
«b) Right to livelihood d) Right to life

Iz fasfimi T faoar AfeTs @ wade 2| @ efed Iarag 30

2) THE AT b) FNIATnias o) TR INTT T e AHE  d) s @ g

For how much time a person who is not a member of either House of Parliament can also be appointed
as a minister ?

FRE @ R @ Fes o Agg & It @8 fevadt § & fbs A &8 HaR fogaz otz 7 Haer 3 9

a) 2 months (2 ¥efi&)  b) 3 months (3 HIS) ~c)_6-fionths (6 HAS) d) 9 months (9 Ht)

The Election Commission advises whom of the following on matters relating to the disqualification of
the members of state legislature ?

\aﬁ/(;)'vemor b) Chief Justice of High Court c¢) Chief Minister d) Speaker
I feurs HeT @ gt & witdisT '8 AEU3 HHIEW 83 9T afiis 3 fBfimit RS farn § rera féer 3
a) IS b) IEt age < Tie AAfCH c) HyH3d d) mitag

What do we call the process in which no exchange of heat energy takes place between the gas and the
surroundings ?

a) Adiabatic b) Isothermal ¢) Isochoric d) Isobaric
wit @ yfefanr & o afde I i g 3 w3 wid-enrd @ fegarg 3 Gawr e adt serea s ger 32
a) Bfawmdfes b) wEREIHS c) WERRfgS d) »éRefaa

The 'Greenhouse effect' is produced due to the presence of excess amount of :
a) Sulphur dioxide ‘b)ﬁogeen dioxide  ¢) Carbon monoxide d) Methane

Mﬂmﬁéeﬂémﬁaﬂgeésmﬂerjerél
2) WBSI IEEHES b) sieHs FeEAEE ¢) IS ASYEREE  d) HEs

Which among the following is the permissible noise level for residential areas for day time as declared
by Central Pollution Control Board (CPCB) ?

a) 55 Decibels b) 60 Decibels ¢) 75 Decibels d) 90 Decibels
éeérqgas%ﬁaaséag(cpcs) wmﬁm@aemmmwwﬂaam%
fofimrt 55 fargr 3

a) 55 s b) 60 3FEs c) 75 3AEs d) 90 gz

Which of these layers of the atmosphere consists of the ozone layer that is responsible for absorbing the
Ultra-Violet (UV) light 7

2) Troposphere b) Mesosphere MSphere d) Rotosphere

DT frget yast Y fam T 6916 USF 961 3 A wmer efidre (@R I § e 596 B
finerg & -

4) 2fiafeng b) AAfAfawa ) wefhfang d) Jffena

Which country is the highest contributor of per capita greenhouse gas emissions ?

4) China b) USA ¢) Russia d) India
" fenart afmargn dnt @ fsard RO S 3 du darers wge o e frawr d
4) He b) n{dE" fu)«gﬁ' d) 993

The Nobel Prize for Physics 2022 has been shared by three scientists, for their work in which field ?

b) Quantum mechanics  ©) Atomie science d) Space Science




70.

73.

74.

75.

76.

77

78.

3z fefomis 2022 or X YIHETS 5 fefmrdht enraT i 939 e Gt @ dy
a) fs@afeng @fqam  b) e HafsaH ¢) UIHE fefimrs "d) u;f“"?’%ﬁwé?

What is the theme of the G20 summit happening in India ?
One Earth-One Family-One Future

a) Shaping an Interconnected World
d) Making the world together

b) Fighting poverty with rigidity
gz g J IO 20 ANSs T Eh 32
c) fa oI ufgerg fta afey

a) wiuF 8 g3 HR'g § Wad °F
p) FXITT IS JSNEH 5B BT d) g3 g frds gerger
Choose the incorrect acid-source pair ?

¢) Oxalic acid — Ant sting

a) Citric acid — Lemon
d) Methanoic acid — Nettle sting

b) Lactic acid — Sour milk

Jrs3 MF-AIS AT TE ?
a) firctya Wi - BY coy G Wfivg - St e dar
p) afea g - der € d) NErSfa MiE - 58 T I
Which of the following is not 2 part of the flower ?
a) Petals b) Sepals c) Pistil d) Pericarp
frge RS faT Ss T Im & 372
a) desd b) AUYSH c) funfes d) Idtaay
A market structure dominated by only a few firms is called :
a) Perfect Competition b) Monopoly c) Oligopoly d) Monopolistic Competition
mgmémﬁwmwgwwi
a) HUIE HAES' b) Barfuad @/@ﬁéﬂﬁ d) arfaarg HarEs"
Which Article in the constitution of India deals with the Annual Financial Statement ?
a) Article 111 Article 112 c) Article 123 d) Article 223
méﬁﬁu@ammﬁemﬁﬁmmﬁéﬁzé?
a) nracias 111 b) WIS 112 c) Wacias 123 d) wadlas 223
When too much money is chasing to0 few goods, the situation is :
a) deflation ) inflation c) recession d) stagflation
3 gg AfEst 3 ,
d) WeIeBES

ﬂéagamﬂwsg?ﬂzme*ﬁfaaae'
a) FEBAS b) yeIHSS c) Het

In which year Lala Lajpat Rai was deported to Mandalay fo

r organising the agrarian movement in

Punjab 7
for 75 75 S T8 1 R 3 e e i g faige fgr A
1998 b) 1507 909 d) 1911
The objective(s) of the Kuka Movement in the Punjab was/were
a) To purify Sikh religion of its abuses and superstitions ¢) The revival of Khalsa
b) The revival of Sikh sovereignty o)-Both (a) and ®)
Urre e 33 Bl €/ @en /e
a) ﬁﬁmﬁﬁﬂwmhﬁWQ‘wm ¢) Hrgﬁayaaga—;ﬂj!
) Bheigpter &y e d) ()30 =2
f the parliamentary System in
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s Act 1892 ¢) Indian Councils Act 1909
Act 1919
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b) s 3rs WEe 1904 d) I3 ASAI VIS

; » Revolt of 1857 7
Who among the following was the first Martyr of the Revol
a) Paltu Khan

b) Issrel Pandey Q»M/\;gal Pandey d) Amar Singh
I3 53 R 1857 & feedo & ufs: e JE A 2 & B0
a) USg S b) frrds Ut ©) e U3

The Bardoli Satyagraha was led by : M ] Miovkes Desai
a) Rajendra Prasad b) Mahatma Gandhi allabhbhai Patel d) ar)

TSI A @ v gt gorar S I

a) IV YR b) HH AT ‘ cgoj:?ﬂ”a‘ & FTTA TR
i i ji Trophy title in !

:;’h]‘;:nlg‘:ha“ e ::;%s::r: ’ ¢) Karnataka d) Madhya Pradesh

2023 RS foosft g9t &hi & Ievit e & fuzrs frifawr 1t 2

a) Sars b) AaHea c) dI&H d) Yo EH

Which is the venue of the Asian Games in 2023 ?

a) India rChina ¢) Indonesia d) Nepal

2023 9 Bl 93 & HErs faoar 3 7

a) 93 b) I c) fESHmr d) dus

Who among the following is the winner of the best actress award in the Dadasaheb Phalke International
Film al Awards 2023 ?
tal')%li:s]‘_:att b) Deepika Padukone ¢) Kangana Ranaut d) Vidya Balan

SIS T5a ReabHes femH Sndes weragn 2023 RS Aot wisssR e nege S 3z 3 3 o
a) W ge b) Sfyar yeas ¢) ST I3 d) fefewass S
Which was the first Indian movie to win an Oscar in the category of best costume design ? #é
Slumdog Millionaire b) Mother India ¢) Gandhi d) Sholay ~

“gm%m@aﬁﬁemﬁnwmmmmm oq q

a) REHZTT fHfsEandy y

T)he timeless Indian novel “D o ’?ﬁam o W 2 ’t 5

. evdas” was written by : (/»\ 2
?’)) l];‘:‘]')‘l“rﬂag;l‘:\“z:lagg':atterj ee fi)) ’é‘&'ﬁf‘ Ctha\:it:a Chattopadh =
39 e e o s Bt an attopadhyay

Y THETIAT b e e ) oo i d) ¥OF deg TR
Find the missing term (?) in the series 13,20, 63, 144, 275, 9

R R e 32 () e 5 833,20, 63, 144, 275, 9

2) 354 b) 468 ¢) 548 4 334

Choose the pair of words from among the given options that will fill the blanks so that the sentence
becomes true angd meaningful, is to Cork as Box is to

a) Spout-Crate b) Wood-Fight ¢) Bottle-Lid d) Bottle-Crate

3 12 fearmur e e o g, 7 el w99 90 9 R I R g W R

ToasR I faEan__ §d)
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Choose the odd numeral pair in the following question : S
forafeds L{Hﬁﬁaeua*nraﬁﬁaf@%
a) 140, 45 b) 110,35 QRS d) 80,25

IfE = 5, PEN = 35, then PAGE ="

399 E =5, PEN =35, 3" PAGE=? N/
a) 27 b) 28 2y 29 d) 36

If Anil says, “Ravi's mother is the only daughter of my mother”, how is Anil re|at to Ravi ?
' d

a) Grandfather b) Father c) Brother one of these
g9 wiss afder J, igdt @ A o S feaB S @t &, 3T feB T IR FB S e 3
3) o b) fu3r c) I d)mﬁga@?ﬁf

Raju drives 25 km North and turns left and travels 5 km and reaches point ‘O”. He, then turng right and
covers another 5 km. Afterwards tums to East and drives 5 km. How much distance (in km) he has to

travel to go back to the starting point ?

o1 25 fdies €39 35 FTER agTr I w3 M HFer I3 5 TABCT T R TeT w3 ke 0y 7
1@;?.”3Iga,ﬁaﬁﬁﬁﬁé“{jaaSWEH?mmé|Wﬁ€’;488*{353€:é@5
Wﬁw@@élg@ﬁg?mww%ﬁﬁ@(mﬁmmmﬂ?
2730 b) 20 ¢) 25 d) 35

Which two months in a year have the same calendar for the first 30 days ?

a) June, October April, November  ¢) April, July d) October, December

s @ oz @ Hfonr @ ufad 30 foa B8t 3839 fiad frar der 32

8) T, W b) ", S s, g &) W _ 2k
Put the correct mathematical signs in the following equation from the given alternatives. g s —

23 o feamur g It &3 mitags Re At aifef3a fdg UG | 5 2x[
. 2 7= 11X N
332112376=115 P S a
a) +, —, X b) X, +, — Qé/;x ). - %, + 2, X3 Y8
Select a figure from amongst the Answer Figures which will continue the same series as established by . 5
the five Problem Figures. kg_/
§339 2 39" ¥9 el 39 g8 1 U mifinr fd3ef ewrer AR St T SRt g At dar | 29 -\ -3%0
Problem Figures Answer Figures 18
A B C D E ®» © @

Figures A and B are related in a particular manner. Establish the same relationship between ﬁgumsm(‘
and D by choosing a figure from amongst the four given alternatives, which would replace the
question mark in Fig, (D).

39 A 3 B o 17 31 oo Hielfr 7 | 2 e v i o i i@ ge A R C P D RS
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Out of the four figures marked (a), (b), (¢)

and (d), three are similar in a certaip Mann _
o figure which is different from the rest. ®T. Choose the
g5 .
@). (b, () W3 (d) I3 59 A3at B, it fra s 32 58 mrs 197%3%: -
T IR | . e
RN e R
@ ® © A
97 If 65b — 33¢c =97 and 33b - 65¢c = 1, then bc = ? /;, -
ATI65b—33c=97M333b—65¢=1, 3" bec = Gl T
a) -3 b) -2 c) 3 d) 2

98.  The number (2*° — 1) is exactly divisible by two numbers between 60 and 70. The numbers are -

Hftmr (248 — 1)?360@70%1%83*3%#&1@3»@5@3@%?%3 | Hfemrer I -

a) 63 & 65 b) 63 & 67 c) 61 & 65 d) 65 & 67 3 4S
99.  The least number of square tiles required to pave the ceiling of a room 15 m 17 ecm long and 9 m 2 cm

broad is:

15%17%@@9%2%#&%@%%%8@@4&2 ==

a) 656 b) 738 c) 814 ‘

100. A car owner buys petrol at ¥ 17, ¥ 19 and T 20 4 .
average cost per litre, if he spends T 6460 per year.

w
B 39 1wea saray fis At it 17, 193 20 U2 Y3t Feg Ieds ydteer S | R 393 =t stes
e‘tmaé,ﬁaaeamsoguéqa’rmuaaaaerél
a) ¥18.49 b) ¥ 18.58 c) T19.20 d) T21.66
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